                        Parallel and Perpendicular, Horizontal and Vertical Lines
Part A:  Given the slopes of the two lines, determine whether the lines are parallel, perpendicular or neither.
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Part B:
State the slope of a line that is

a) parallel to each line

b) perpendicular to each line
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Part C:  Identify whether each pair of lines are parallel, perpendicular or neither.
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Part D:  Given the coordinates of the following 8 points, determine whether each pair of lines is parallel, perpendicular or neither.


A (3, 2) 
B (6, 4) 
C (-8, -2)
D (-2, 2)

E (8, 1) 
F (2, 0)

G (11, 3) 
H (6, -3)

24.   AB and CD
25.   DF and CH
26.   CD and BE
27.   AH and GH

28.   DF and AF
29.   BG and AE
30.   FC and DG
31.   BE and AB

Part E:  Determine and equation for each line.

32. A line parallel to 
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, passing through (1, 2)
33. A line perpendicular to 
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34. A line parallel to 
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35. A line perpendicular to 
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36. A line parallel to 
[image: image42.wmf]2

9

1

+

-

=

x

y

 with the same x-intercept as 
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37. A line perpendicular to 
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with the same x intercept as 
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ANSWERS

1. Neither

2. Parallel

3. Perpendicular
4. Neither

5. Perpendicular


6. Neither

7. Parallel

8. Neither

9. Perpendicular
10. Neither
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20. perpendicular
21. perpendicular
22. neither



23. neither

24. Parallel
25. Neither
26. Perpendicular
27. Neither
28. Perpendicular

29. Parallel
30. Neither
31. Perpendicular
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